Answers Day 10
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Finding Area of Triangles and Parallelograms

1. The area of a parallelogram is equal to

O twice the area of the triangle with the
" same base and neight
‘B) the area of the rectangle with the same
side lengths

€  twice the arsa of the regiangie with the
same sice lengins
1he area of the sguare with tha same
ase
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2. The area of a parallelogram with base = 4 cm
and height = 2cm is .
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'9 4 cm®
(H) 18em?2
(5 32em?

3. Two of the same triangles make a
parallelogram with |
(A) thwee fourths the area
hal! the area
the same ama
twice tha area
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4, Find the area of the triangle.
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’ 2.7 ya?
1) 8yd? i

5. Find the area of the parallelogram.
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~ ' Qn 1 5 m
T 285m? -

D, 6.8me 34m

8. Find the area of a triangle with base = 5 and
height = 3.

7, 7.5 square units

€ square units

15 square units
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4 sguare units

7. Find tho arsa of a poraliologram with
base = 5 and height = 3.

(h) 7.5 units?
B 8 units®
. 15 unite”
o) 4 units? -
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